Name ______________________________

Incomplete Dominance and Codominance Worksheet

1. Cat fur color is determined by codominance. The allele for tan fur (TT) and the allele for black fur (BB) are codominant. The heterozygous condition (TB) results in a cat with tan and black spots, called a tabby cat. What would occur is a tan cat was crossed with a tabby cat? Draw the Punnett square and identify the genotypes and phenotypes of their offspring.
2. If two tabby cats are crossed with each other, what is the likelihood that they’ll have a tabby kitten? A black kitten?

3. In humans, hair type is determined by incomplete dominance. Some people have curly hair (CC), some people have straight hair (SS), and heterozygotes have wavy hair (CS). What would occur if a person with wavy hair had a baby with a person with straight hair? Draw the Punnett square and identify the genotypes and phenotypes of their offspring.
4. If two people with wavy hair have a baby together, what is the likelihood that they’ll have a curly haired baby? A straight-haired baby?

5. Suppose you identify a new gene in mice. One of its alleles specifies white fur color. A second allele specifies brown fur color. Mice also are seen as white and brown patches.  You want to determine whether the relationship between the alleles is simple dominance (and if so which color is dominant) incomplete or co-dominance. What sorts of genetic crosses would give you the answer? On what types of observations would you base your answers?   Name the type of inheritance.
6. In four O’clock flowers, red flowers (R) show incomplete dominance to white flower (W). The heterozygous condition produces pink flowers. Give the expected genotypic and phenotypic ratios for the offspring of a cross between two pink flowering plants.
7. In a species of birds, incomplete dominance between alleles for black (B) and white (W) feathers is observed.  Heterozygotes are blue.  If two blue birds are crossed, what will be the possible genotypes and phenotypes of the offspring?

